






    



       PCO/CT/2005 / MC21         

M.Com. DEGREE EXAMINATION, APRIL 2017.

I YEAR — II SEMESTER

Paper V –– ADVANCED COST ACCOUNTING
Time : 3 hours
              
Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Define cost accounting

2. What are the elements of cost?

3. Cost of process X: `2,70,000.              
Joint products produced        X: 500 Kgs.      Y: 1500 Kgs                                                                   
Market price per unit             X: `30              Y: ` 20                                                                  
Divide the joint cost on the basis of market value

4. What is batch costing?

5. The total cost of a motor is `5,682. The business man desires a profit of 25% on the price quoted. Ascertain the selling price quoted.
6. Write a note on Service costing.

7. Give any two examples of fixed charges in Transport costing.

8. What is cost reduction?

9. What is cost control?

10. What do you mean by Joint product and By product costing .

11. What is cost audit?

12. From the following information, calculate total passenger kilometers.

Number of buses 5;  Days operated in a month   30;  Trips made by each bus 4 ;  
Distance of Route  20kms. long (one side); Capacity of the bus 50 passengers.

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13. Explain the objectives of cost accounting.

14. Write a note on Cost audit programme.

15. What are the differences between Job costing and Contract costing?

16. The profit shown in the financial accounts was `1,12,870 and for the same period the cost accounts showed a profit of `27,040

Examination of the accounts showed the following differences:

                                                          Cost Accounts
    Financial Accounts








`



   `


      `
Depreciation

         

98,260

1,05,200

Stock valuation


a. Opening stock
     

      2,75,100

2,55,000

b. Closing stock
                        1,82,180

1,87,500

Profit on sale of asset



   -


     8,500

Dividend received


            -


   26,350

Imputed rent charge
                           32,500



Reconcile the profit figures.

17. In Process A 2000 units were introduced during one month.   The normal loss was estimated @5% of input.   At the end of the month 460 units were incomplete.   The stage of completion is as follows:


Material

75%     complete.


Labour

50%     complete


Overhead

50% 
  complete


Calculate the Equivalent Production.

18. 
The following cost data pertaining to ABC power Company Ltd, prepare cost sheet showing the cost of generation of power per unit of Kwh.


Total units generated 15,00,000 units








            `

Operating Labour



16,500


Plant supervision



  5,250


Lubricant and supplies


10,500


Repairs and Maintenance


21,000


Administrative overhead


  9,000


Capital cost



       1,50,000

Coal consumed per Kwh is 1.5 lbs and cost of coal delivered to the power station is `33.06 per metric tonne.   Depreciation rate chargeable is 4% per annum and interest on capital is to be taken at 7%.

19. A work order for 1,000 units of a product passes through four machines for which the machine hour rates are as follows:

Machine
  

                  Rate per hr.  `

No of hours worked.

I






2.50



400

II






6.00



600

III






8,00



480

Iv






5.00



200

Material cost of work order `40,000 and wages `,3,000.  Upon completion of work order materials worth `2,000 were returned to stores.  Office overheads are to be charged @ 60% of works cost.  10% of the production is going to be discarded, being unsatisfactory for which ½ the amount can be realised from sale in the market.   Find out the rate of selling price per unit if 20% profit on selling price is desired.

SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
20. Explain the factors to be taken into consideration while installation of a costing system.

21. Mr. Arun under took a contract for `2,50,000 for constructing a college building.  The following is the information concerning the contract during the year 2016.  


Particulars







Amount `
Materials sent to site






   85,349

Labour engaged on site





   74,375

Plant installed at  site at cost 




   15,000

Direct expenditure






     3,167

Establishment charges






     4,126

Materials returned to stores





        549

Work certified 







1,95,000

Value of plant as on 31st Dec 2016



    11,000

Cost of work not certified





      4,500

Materials at site 31st Dec 2016




      1,883

Wage accrued 31st Dec 2016




      2,400

Direct expenditure accrued 31st Dec 2016


         240

Cash received from contractee




 1,80,000

Prepare contract account, contractee’s account and show how the work in progress will appear in the balance sheet as on 31st Dec 2016.

22. The product of company passes through three distinct processes to completion.  They are known as A, B and C.   From past experience it is ascertained that loss is incurred in each process: Process A – 2%, Process B – 5%, Process C- 10%.


In each case the percentage of loss is computed on the number of units entering the process concerned.


The loss of each process possesses a scrap value.   The loss of processes A and B is sold at `5 per 100 units and that of process C at `20 per 100 units.


The output of each process passes immediately to the next process and the finished units are passed from process C into stock.






Process A
         Process B 

Process C






      `

               `


    `
Materials consumed

  6,000

   4,000

2,000

Direct Labour


  8,000

   6,000

3,000

Manufacturing expenses
  1,000

   1,000

1,500

20,000 units have been issued to process A at a cost of `10,000.   The output of each process has been as under:

Process A 19,500; Process B 18,800; Process C 16,000.

There is no work-in-progress in any process.

Prepare Process Accounts.   Calculations should be made to the nearest rupee.

23. Mr.S owns a fleet of taxis and the following information is available from the records:

Number of taxis




10

Cost of each taxi




`54,600

Salary of manager



`700  p.m

Salary of accountant



`500 p.m

Salary of cleaner



`200 p.m

Salary of Mechanics



`400 p.m

Garage rent




`600 p.m

Insurance premium



5% per annum

Annual tax





`900 per taxi

Driver salary




`350 p.m per taxi

Annual repairs




`1000 per taxi

Total life of a taxi is about 2,00,000 Kms.  The taxi runs in all 3000 Kms in a month and 30% of this distance has to be run without any passenger.  Petrol consumption is one litre for every 10 Kms at ` 4.41 per litre.  Oil and other sundries are `10.50 per 100 Kms.   Calculate the cost of running a taxi per km.








[P.T.O.]
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